UL DAL RO B UL

+|-
EdN

. o Lot or iy ..2... o Hl N i iiiiiiz
Y p. (Gev) ! 10 . Gev) ! 10 5. el

éIVI Ol’lglnal StepZ_Tibar-pnasel-newgeom

pixe|CPETemplate_step2 ttbar-phasel-newgeom
[\ plerCPETempIateCut hiSquareNew7_stepZ ttbar-phasel-newgeom

< 500 = 5001
a E @
5 C
2 400 g
£ s %%
=5 = B
< 300 R
S 500l £-5001
v an i
100 21000
A L
0 s |
Y1500
-100 C
200 =2000f
g | k.
0.5
okl Al

" $p. (Gev) ! 10 3% (Gev)

> —5000[ 000
o .
= NA000[: é’l
g 200 © £100
2 v q>)1
Ao 3000 b
(]
o o
V-
200 2000} £
-400] 2
1000} #=30
~600 100
-800 0 -150
<1000 51000 =200
= 15 T 1s 3
x a4 @

> M Al L M B ..2... uZ...
10 . (GeV) ! 10 . Gev) . Gev)



	Contents
	Page 1


